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Note:	 The question paper is divided into three sections A, B and C. Use of 
non-programmable scientific calculator is allowed in this paper. 

{ZX}e :	 àíZ nÌ VrZ IÊS>m| "A', "~' Am¡a "g' ‘| {d^m{OV h¡& Bg àíZnÌ 
‘| Zm°Z-àmoJ«m‘o~b gmB§Q>r{’$H$ Ho$ëHw$boQ>a Ho$ Cn¶moJ H$s AZw‘{V h¢&

	 Section - A	 8 × 2 = 16
(Very Short Answer Type Questions)

Note:	 Section ‘A’ contains 08 Very short Answer Type Questions. 
Examinees  have to attempt all questions. Each question is of 
02 marks and maximum word limit may be thirty words.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "E' ‘| gmV (08) A{VbKwCÎmamË‘H$ àíZ h¢, narjm{W©¶m| 
H$mo g^r àíZm| H$mo hb H$aZm h¡& àË¶oH$ àíZ 02 A§H$m| H$m h¡ Am¡a 
A{YH$V‘ eãX gr‘m Vrg eãX h¢&

1)	 (i)	 Solve 7 × [ (6 + 2) – 6 ] – ( 5 × 2 )
		  hb H$s{O¶o& 7 × [ (6 + 2) – 6 ] – ( 5 × 2 )
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	 (ii)	 Change 13
12  and 3

2  with common denominator.

		  13
12  Am¡a 3

2  H$mo g‘mZ ha dmbr {^ÝZm| ‘| n[ad{V©V H$s{O¶o&

	 (iii)	 If a bus travelled 80 km in 2 hours then find speed of bus.
		  Xmo K§Q>o ‘| ~g 80 {H$.‘r. H$s Xÿar V¶ H$aVr h¡& ~VmB¶o ~g H$s Mmb 

³¶m h¡?

	 (iv)	 Find the HCF of 18 & 24.
		  18 Am¡a 24 H$m ‘hV‘ g‘mnd©H$ HCF  kmV H$s{O¶o&

	 (v)	 If Ram get profit of 30 rupees on selling a watch in 200 rupees, 
then find purchase cost of watch.

		  200 én¶o ‘| EH$ K‹S>r ~oMZo na am‘ H$mo 30 ê$. H$m bm^ hmoVm h¡& 
~VmB¶o K‹S>r H$m H«$¶ ‘yë¶ ³¶m h¡?

	 (vi)	 If 10 persons complete a wall in 20 days then in how much time 
40 people complete this wall.

		  ¶{X 10 ì¶{º$ EH$ Xrdma H$mo 20 {XZ ‘| ~ZmVo h¢ Vmo 40 ì¶{º$ Cgr 
Xrdma H$mo {H$VZo {XZ ‘| ~ZmE§Jo&

	 (vii)	If a, b & c are given then what is area of Triangle?
		  ¶{X a, b Am¡a c {X¶o hmo, Vmo {Ì^wO H$m joÌ’$b ³¶m hmoJm?

	 (viii)	Write the value of log102
		  log102 H$m ‘mZ {b{I¶o&
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	 Section - B	 4 × 8 = 32
(Short Answer Type Questions)

Note:	 Section ‘B’ contain 08 short Answer Type Questions. Examinees 
will have to answer any four (04) questions. Each question is of 
08 marks. Examinees have to delimit each answer in maximum 
200 words.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "~r' ‘| (08) bKw CÎma àH$ma Ho$ àíZ h¢, narjm{W©¶m| H$mo {H$Ýht 
^r Mma (04) gdmbm| Ho$ Odm~ XoZm h¡& àË¶oH$ àíZ 08 A§H$m| H$m h¡& 
narjm{W©¶m| H$mo A{YH$V‘ 200 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo 
h¢&

2)	 Explain following definitions of mathematics

	 (i) Mathematics: Science of magnitude and intervals

	 (ii) Mathematics: Key to conclude and decision.

	 J{UV {H$ {ZåZ n[a^mfmAm| H$mo g‘PmBE:

	 (i) J{UV: J{UV n[a‘mU Am¡a AÝVamb H$m {dkmZ&

	 (ii) J{UV: J{UV {ZîH$f© Ed§ {ZU©¶ na nhþM§Zo H$m gmYZ&

3)	 If area of a right angle triangle is 2 meter2 and base is 90 cm then find 
length of perpendicular of triangle.

	 EH$ g‘H$moU {Ì^wO H$m joÌ’$b 2 dJ©‘rQ>a Am¡a AmYma 90 go‘r h¡& 
{Ì^wO Ho$ bå~ H$s bå~mB© kmV H$s{O¶o&
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4)	 A seller gets 28% loss on selling a table in 810 rupees. If he sells it in 
900 rupees then find his gain/loss percentage.

	 EH$ ì¶mnmar Zo EH$ Q>o~b 810 ê$n¶o ‘| ~oMr& {Oggo Cgo H«$¶ ‘yë¶ H$m 
28% hm{Z hþB©& ¶{X dh Q>o~b 900 én¶o ‘| ~oMVm Vmo CgH$m bm^ AWdm 
hm{Z à{VeV kmV H$amo&

5)	 Divide  x x4 4 12
+ +_ i by x2 1+_ i

	 x x4 4 12
+ +_ i ‘| x2 1+_ i H$m ^mJ {X{O¶o&

6)	 A train departs from Kota at 9:00 am with speed 25km/h and another 
train departs from Kota at 2:00 pm. with speed 35 km/h in same 
direction. Calculate the distance and time after which both trains 
meet.

	 EH$ aobJm‹S>r 25 {H$‘r/K§ H$s Mmb go H$moQ>m go 9 ~Oo gdoao MbVr h¡ VWm 
Xÿgar aobJm‹S>r 35 {H$‘r/K§ H$s Mmb go H$moQ>m go hr Cgr {Xem ‘| Cgr 
{XZ 2 ~Oo MbVr h¡, Vmo do XmoZm|  aobJm{‹S>¶m± H$moQ>m go {H$VZr Xÿar na VWm 
{H$g g‘¶ {‘b|Jr?

7)	 Find compound interest of 1500 rupees for 1 2
1 year if interest is 

calculated annually.
	 1500 ê$. H$m 1 2

1  df© H$m MH«$d¥{Õ ã¶mO 10% H$s Xa go kmV H$amo 

	 O~{H$ ã¶mO MwH$mZo H$s Ad{Y à{Vdf© hmo&

8)	 Solve following system of equation:
	 10 ; 2 7x y x y- = - =

	 {ZåZ{b{IV g‘rH$aU {ZH$m¶ H$mo hb H$a|:-
	 10 ; 2 7x y x y- = - =
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9)	 Ratio of milk and water in 35 litre mixture is 4:1, If 7 litre water 
added in this mixture then find ratio of milk and water.

	 brQ>a {‘lU ‘| XÿY Am¡a nmZr H$m AZwnmV 4 Am¡a 1 h¡& ¶{X Bg {‘lU 
‘| 7 brQ>a nmZr Am¡a {‘bm {X¶m OmE Vmo XÿY Am¡a nmZr ‘| ³¶m AZwnmV 
hmoJm?

	 Section - C	 2 × 16 = 32
(Long Answer Type Questions)

Note:	 Section ‘C’ contains (04) Long Answer Type Questions. 
Examinees will have to answer any two (02) questions. Each 
question is of 16 marks. Examinees have to delimit each answer 
in maximum 500 words.

(IÊS> - gr)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	IÊS> "gr' ‘| 4 XrK© CËVar¶ àíZ h¢& narjm{W©¶m| H$mo {H$Ýht ^r 
Xmo (02) gdmbm| Ho$ Odm~ XoZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 
narjm{W©¶m| H$mo A{YH$V‘ 500 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo 
h¢&  

10)	 Explain the values of mathematics education.
	 J{UV {ejm Ho$ ‘yë¶m| H$mo g‘PmBE&

11)	 Explain the following:-

	 (i)	 Merits of Mean

	 (ii)	 Demerits of Mean

	 (iii)	 Merits of Median

	 (iv)	 Demerits of Median
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	 {ZåZ{b{IV H$mo g‘PmBE:-
	 (i)	 ‘mÜ¶ Ho$ JwU

	 (ii)	 ‘mÜ¶ Ho$ Xmof

	 (iii)	 ‘mpÜ¶H$m Ho$ JwU

	 (iv)	 ‘mpÜ¶H$m Ho$ Xmof

12)	 If A, B and C can complete a work in 5, 10, 20 days respectively and 
if wage for this work is 2100 rupees then find how much money each 
of them get.

	 A, B Am¡a C AbJ-AbJ {H$gr H$m‘ H$mo H«$‘e: 5 {XZ, 10 {XZ Am¡a 
20 {XZ ‘| nyam H$aVo h¢& ¶{X H$m‘ H$s ‘OXÿar 2100 ê$ hmo Vmo ~VmB¶o 
àË¶oH$ H$mo {H$VZr ‘OXÿar {‘br&

13)	 Explain the following

	 (i)	 Straight line and angle

	 (ii)	 Properties of parallel lines

	 (iii)	 Triangle and types of triangle
	 {ZåZ H$mo g‘PmBE&
	 (i)	 gab aoIm Ed§ H$moU

	 (ii)	 g‘mZmÝVa aoImAm| Ho$ JwUY‘©

	 (iii)	 {Ì^wO d {Ì^wO Ho$ àH$ma


